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About the author

Hi! My name is Marsida Horeshka. People often call me Mars, just like the planet (hence
the name marsmaths). I've worked for about 10 years in the education sector, over half
of which as a subject leader and manager.

In the two Ofsted visits to my class, | received extremely good feedback: in 2017 they
highly praised my subject knowledge and teaching for mastery, with no areas for
improvement, while in 2019 they described my lesson as ‘ the best GCSE maths lesson
we’ve ever seen’. Coupled with great feedback form learners and colleagues, this gave
me the confidence to start sharing my maths teaching strategies with the world.

| post maths teaching videos on YouTube, as marsmaths. | also regularly add
resources on my website (marsmaths.com), such as questions and answers or worked
solutions to practice papers. I'm always adding new resources to the website, so if
you're interested, check regularly for updates.

You Can

It is quite common to feel like you’re not doing very well in maths or that you're not a
maths person. What | can say is that you're not the only one experiencing these feelings
towards maths. If you want to do maths, then you CAN do maths. There is nothing to
stop you. Scientific evidence shows that there is no such thing as ‘a maths person’ and
anyone can do maths.

Struggling to complete a maths task though, is a good thing. You are learning if you
struggle and if something was too easy, we wouldn’t be doing it anyway. Why would
we?

Challenge yourself to achieve L2, the level required for many jobs and further/higher
education studies. | absolutely believe that you can. Can you? | challenge you. And
once you've passed your exam, come and tell me on YouTube or social media — I'd
love to celebrate your success.

How to use this booklet

Start with the self-assessment on the next page and identify topics you need to work
on. Go to the relevant questions for the topic and check your answers against the
answers given. If you need an explanation for the topic, you can check out my videos
(or other videos) by reaching for the topic on YouTube.

Copyright

You can print and make copies of this booklet for teaching and learning purposes but
no part of this publication may be hosted on a website or other electronic or mechanical
methods without the permission of the author.



ENTRY 2 SELF-ASSESSMENTGRID

Ref Topic Questions | Answers
Page Page

E2.1.1 Count in ones up to 100 5 58

E2.1.2 Count in twos up to 100 7 58

E2.1.3 Count in tens up to 100 9 58

E2.2.1 & | Read and write numbers up to 11 58

E222 | 200

E2.2.3 Order and compare numbers 13 48
up to 200

E2.3.1 | Recognise and sequence odd and 15 59
even humbers

E2.4.1 Recognise and nterpretsymbols 16 59
+,- X,%,=

E25.1 Add 2-digitnumbers 18 59

E25.2 | Subtract 2-digitnumbers 20 59

E2.6.1 Multiplywholenumbers from 22 59
0x0 to 12x12

E2.7.1 Know the number of hoursin 24 59
a day and weeks in a year

E2.8.1 Divide 2-digit by 1-digit 25 59
numbers

E2.9.1 Round to the nearest 10 27 59

E2.10.1 | Recognise a half, a quarter 28 60
and a tenth

E2.11.1 Read, write and use decimals 30 60
(to 1 decimal place)

E2.12.1 | Calculate money with pence 31 60

E2.12.2 | Calculate money with pounds 33 60

E2.13.1 | Read time and date (including 35 60
hours in digital clocks)

E2.14.1 Length: use mm, m, cm, m and km 37 61

E2.15.1 | Weight: use g and kg 39 61

E2.16.1 | Capacity: use | and ml 40 61




E2.17.1 | Readand compare positive 41 61
temperatures

E2.181 | Read and usescales 42 61
(nearest labelled division)

E2.19.1 | Recogniseand name 2D 44 62

E2.19.2 | Recogniseand name 3D 46 62

E2.20.1 | Describe propertiesof 2D shapes 47 62

E2.20.2 | Describe propertiesof 3D shapes 48 62

E2.21.1 | Describe position and direction 49 62

E2.22.1 | Extractinformation from lists 51 62

E2.22.2 | Extract information from tables 52 63

E2.22.3 | Extract information from tally 53 62
charts

E2.22.4 | Extract information from bar 54 62
charts

E2.23.1 | Compare data from bar 55 62
charts

E2.24.1 | Sort objects using 2 criteria 56 63

E2.25.1 | Represent information from 57 63

one format into another




Entry 2.1.1: Count up to 100

1. Sidra has some apples and some pears. How many apples does she have?
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2. Janeneeds 26 cubes to build a shape. Does she have enough cubes?

AANSWEE S ..ottt e cesees et et e e ee et aaeseesesees st seesease e seaen ensenenees et aereereeeaenan



3. Continue this number pattern.

43, 44, 45, ., 47, ...

4. Fillintheblankspacesinthe pattern below.

5. Put these numbers in order, starting with the largest.

16

ey oee

... 90

cees e, 12,73, 74, 75

25

52

13

ANSWEE™: ..ot e et e e 0 222 204 e 222 e 228 s 0 et s e e et et et e et

6. Jane completes anumberpattern,like below.Is she right?

18, 19, 81

ANSWEE: ..ot et ses et s e s et a0 s s 2t et 2enaesaae et ateaeaseasenaenenensen s ens

86




Entry 2.1.2: Count up to 100 in twos

1. How many socks are there?

Y rrr.
DY NP
DN DYDY

L X XX

AANSWEE : ...ttt oot oot eee oot eeeeteeeeeeseeeeeseeseeseeseeseeseeseeeseseessesses e eeseenareseaeeeeeseeesraen

N

. A teacher has put tables together like in the picture. In each table cansit two
learners.

How many learners can sit in all tables?

AANSWEE ..o e e e e e e e e e et e et e e et e eee et ne et eeeeeaeennn e eeeeeeenae e s



3. Continue this number pattern.

52, 54, 56,.., 60, ..., ..., 66

4. Fillintheblankspacesinthepatternbelow.

ey .., 34, 36, 38, 40

5. Anumber patter starts like this:

1,3,5,7 ...

And goes up to 31. Would the number 21 be in this pattern?

ANSWEE: .ot e s e e st et 01 e 1t 0 0 e e e

6. Sukicompletesanumber pattern,likebelow.Is she right?

43, 45, 46,48

ANSWEE: oot ettt et ettt e 22 e s et a2 a2 ae e en s eeeaemaeneseeeeneeennneneeeaen



Entry2.1.3: Count up to 100 intens

1. How much money is there?

ANSWEr: ... p

2. A teacher has put tables together like in the picture. In each table cansit ten
learners.

Can 29 learners sit in all tables?

AANSWEE S ..ottt oot et oot oot oottt eteeeseeeeeeeeaeeseesees e es et s eesees e ee e e e e e e e e e e e e e e e e e e e e e e e e e e e

3. Fill in the blanks in this number pattern.

30, 40, .., 60, .., ..,90

4. Fillintheblank spaces inthe patternbelow.

weees .., 70, 80, 90, 100



5. Anumberpatterstartslikethis:

10, 20, 30,40 ........

And goes up to 100. Would the number 55 be in this pattern?

AANSWEI™S .ot oo 2o s seees et et e e 20 2 4 e 0 e 4 e 44 24444400212 2 e 8 e 21 5 54 4 4 0 0 5444014121 21212t et 2ttt et e

6. Sukicompletes a numberpattern,like below.Is she right?

40, 50, 70, 80

ANSWET ..ottt es s e et e et et 22 a2 s 2ot 22 22 ns et a2 eeeae e ns et aue et eenee et eee et een et eaeee et en et an eaeeeeaenan e eeeaen
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Entry2.2.1 and Entry 2.2.2:Read and write numbers up to 200

1. Representthesenumbersusingcubeslikeinthe example given.

141 Hundreds Tens Units

EEEENYEERE
GLLILLI ]

WLLILITITT]
5

Units

—
D
-
w

108 Hundreds

35 Hundreds Tens Units

60 Hundreds Tens Units




2. Matchthesenumberswiththewordsthat represent them

17 one hundred
100 sixty eight
111 one hundred
68 ceventoen

3. Aylawritesthenumber 18 as ‘eighty’. Isshe right? Explainyour

answer.

4. How do you write the number 55 inwords?

ANSWEI™: oot es e et s et et s e et e et s e s eenen

5. Janefillsinthechequebelow.Writetheamountin digits in thecheque.

The Bank Date
twenty poundy ondy £
Signed

*LEE2I. k2+3L5E6. 23L5E78.

12



Entry2.2.3: Order and compare numbers up to 200

1. Put these amounts in order, starting with the one with the highest value.

£ 108 £18 £ 180 £ 81

ANSWEE: ..., coveniee) cevsiiine) eeviees

2. Which of these cheques has the highest value? Tick it.

The Bank Date
Pay___one hundred |and .
twenty pounds
only
Signed
Cheque No Branch Sort Code Account No
‘PEE 243 b2 *3ILSE" y23LSETB
The Bank Date
Pay__one hundred| and two e
pounds only
Signed
Cheque No Branch Sort Code Account No
‘PEB 243 22 3456 y23L5678

Write the amounts in digits in the cheques.

13



3. Susanordered some numbers from the lowest to the highest:

18, 91, 72, 103, 105
Is she right?Why?

ANSWEE: ....o oo oes oo oee oo seses e ses s s e s a0 22 e 2220 02 2283 202208 2 20 e 4 204 2 242 02024280 245 202 258 202 08 4 204 04 204 02 244 0 080 208 e e e e et et

4. Hereisthetimeit takes Andy to travel to college.

By bus 30minutes
Walk 85 minutes
By bike 45 minutes

Andy wants to go to college in the shortest time possible. Should he usea bike,the bus or
walk?

ANSWET ..o eee e et et e 222 s 2 242502 4 202 522 0t 4 4252 0 2242 05 4 24228 1 04 2 0t 20408 4 04 12 e 04 22 et 20 1t e et e et et

5. Aaron says: 'Eighty is bigger than eighteen’.

Is Aaron right? Explain your answer.

14



Entry 2.3.1: Recognise and sequence odd and even numbers up to 100

1. Are the numbers below odd or even? Put them in the circle theybelong.

8, 11, 25, 50, 56, 77, 81, 100

ODD EVEN

2. Beckyiscountinghersocks.Continue counting.

12 14, 16, ... — , 22

3. Add themissingnumbersinthe patternbelow:

., 39, 41, 43, ...

4. Ola says: 'After each even number, comes an odd number’. Is she right?
Explain.

15



Entry2.4.1:Recogniseandinterpret +, -, x, + and= symbols

1. Match these symbols with their meaning.

+ subtract
- equals

X divide

= add

g times

2. Fillintheboxesbelowwithoneof thesesymbols: +,- ,X ,+ or =,

true.

6 5 11
2 |7 = 14
12 + 4 3
20__ 8 =12
5 | 1= 5

3. Write another two words that represent the meaning of the symbol.

X

FIMES, oo e

..,Share equally,...............

so that the sentence is

16



4. Nevwrites: 5=10-2

He's made a mistake. What mistake has he made? Correct his answer.

AANSWEI ™ ... oo eeeeee e e e e e et e e 125 5 8 0 02 5255 5 1 5 4 2442442444444 24221 2 e 0 e 01 1 5 50 44 2444412012012 21 et et et et

5. Arfa had 80p in her pocket. She bought a pack of biscuits for 50p.How doyou
work out how much money she haslef+?

17



1. You buy two reusable carrier bags to put your shopping in, like below.

45p 50p

How much do both bags cost?

Answer: ..........oceene. p

2. How many small squares are there altogether? Show your working.

18



3. Fill in the gaps below:

------

+
—
D
1]
O
w

4. Nailawrites these maths sentences:

24 + 4 = 4 + 24
0+35:=0

Do you agree with Naila? Explain your answer.

AANSWEI ™ ... oot ses e e st e e e 0 e85 0 4 e 0 0 414 e 0 e e e et e

5. Find another two numbers you can add which give the same total as 25 + 46

AANSWEI: .ottt e et eee et eeeseevea e es et setsesses e e e eessetsensen e e essetsesseeren e s eessesseesenren

19



Entry 2.6.1: Subtract 2-digit numbers

1. Youhave 90p inyour pocket.
Youbuyaplastic carrier bags to putyour shopping in. The bag costs 44p.

44p

Howmuchmoneydoyouhaveleftafterpayingfor the bag?

2. Lelaneedsto 24 portionsof cake forherguests.

Shehasalreadymade8.Howmaymoredoesshe need to make.

ANSWEE: oo

3. Fill in the gaps below:

39 -5= ...
54 - 26 = ...
55 - ... =12
76 - ....=8
- 59 =10
-4 =81

20



4. Aylawrites these maths sentences:

24 - 4 =4 - 24
25 - 0 = 25

Do you agree with Ayla? Explain your answer.

AANSWEI . ...t e vee e e e st et e 0 5 25 1 54 4555 1 4 e 4 5 204444420 42 e e 28 1 4 1 4 4 44444010 42 et et e e e e e e 00

5. Find another two numbers you can subtract which give the same total as 34 - 3.
ANSWEI et ettt s et s et 18 1 8 0k £ e k1 £ kbbb

21



Entry2.6.1: Multiply numbers intherangeof0x0to 12x12

1. Yougoshoppingandbuy 3 packsof 6 cansof baked beans.

Howmany cansdidyoubuyaltogether? Answer:.......

2. Write a multiplication sentence o represent the number of squares shown below.

......... ) QS
3. Fill in the gaps below:
5x10 = ...
4 x .. =32

.. X6=36



4. Nailawrites these maths sentences:

6x4=4x6
1x5=1
bx0=5

Do you agree with Naila? Explain your answer.

AANSWEI ... oee e et e e e e 022t et e e 25 1 08 02 48 52 5 4 5 e 4 4404 44440 422 2 e 8 e e 1 5 0 44 2444014142121 et et et et e

5. Find another two numbers you can multiply which give the same totalas 8 x 3

Answer:

23



Entry 2.7.1: Recall the number of hours in a day and weeks in a year.

1. How many hours are there ina day? ..................

2. At what time does a new day start? ................

3. At what time does a day end? ..o,

4. How many months are there inayear? ...............

5. How many weeks are there inayear? .................

6. Which month is the first week of the year in? .........

7. Which month is the last week of the year in? ...........

24



Entry 2.8.1: Divide 2-digit by 1-digit numbers

1. Annwho works in a shop, had 64 cans of beans delivered. In each pack
there are 4 cans of baked beans.

How many packs were delivered altogether?

ANSWEI ™ oottt eee et et et eee et e e e et eaeeeeeea ees et e eeeeen es et aue et een et et et et s et eae et aenes et eueeeeneeaaeeneaean

2. Maya spends the same amount of money on grocerieseveryweek. Shespent
£64inFebruary (4 weeks).

...............

25



3. Fill in the gaps below:

36 +9
50 =+ 10 = ...

n
~N

63 - ...
64 7 = ...

4 Nailawrites these maths sentences:

16 + 4 = 4 + 16
b+1-=1

Do you agree with Naila? Explain your answer.

AANSWEI . ... eee e oo e o002 2ot et et 252 54 52 e 8 202 542 52 542 54 2 4 0 4444442444202 2 e e e 18 1 51 1 5 0 2044440202021t et e et

5. Jo worked out that 42 = 7 = 6 . How can she check that her answer is right by multiplying?

Answer: X T

26



Entry2.9.1: Approximate byroundingtothenearest 10 and 100 and use this rounded

answer to check results

1. Fatima received a salary of £76 the 15" week and £92 the 2" week. How much did
she get in total? Check your answer using estimation.

2. Jade spent £81 the 15" week, £19 the 2" week, and £55 the 3™ week. How much did

she spend in total? Check your answer using estimation.

3. Fillinthe gaps inthe table below:

Lowest possible whole Rowdad v : Highest possible whole
number number
55 60 tothe nearest 10 64

30 to the nearest 10

4. Jade rounded 30 to the nearest 10. Here is her answer:

30

Is Jade correct? Explain your answer.

5. Round43tothenearest10. ..
Round78tothenearestl1O...........
Round4tothenearest10. ...

Round 95 to the nearest 10. ..........

27



Entry2.10.1: Recognise simple fractions (halves, quartersand tenths) of whole numbers

1. Colourin1/10 of each shape below:

2. Jade represents 1/4 like this:

OC

Is she right? Explain your answer.

3. Fillinthe gaps below:

Fractions in digits

Fractions in words

one quarter

1/2

one tenth

4. Which of these is bigger:

1/2 of £64 or 1/4 of £100 ?

28



5. Ashoe shop is selling shoes at a reduced price, 1/2 of f. The normal price of a
pair of shoes is £30.

How much do the shoes cost when on sale? U _

6. What is the difference between:

1/4 of £30and 1/4 off £30

7. Aylasays:'1/4 is bigger than 1/2 because 4 is bigger than 2. Is Ayla correct? Explainyour
answer.

29



Entry2.11.1:Read, write and use decimals to one decimal place

1. Represent 0.5 of the bar below.

2. Thelengthof awoodplankis1.6 cm. What is the length of two planks of wood put next to
each other?

Would the two pieces put together be longenough to cover astrip of the floor that is 3m
long?

3. Fillin the gaps below:

Decimals in digits Decimals in words
Zero point six

4.9

4. What is the same about these two numbers and what is different?

3.7and 7.3

4 5 7

5. Here are three digit cards:
Make every decimal you canwith them. Write theminorder,startingwith the
smallest.

30



Entry 2.12.1: Calculate money with pence up to one pound and write with the correct symbols

1. Match the coins with their values.

10p S50p 5p £1 20p

2. Put thevalues of the coinsinorder, from the lowest to the highest.

LOWEST ...ttt ne Highest

3. Yougo toashopand buy two packs of biscuits as shown below.

7
L
=

 BOURBON
| CREAM

__ BISCUITS

igestives /s
/ %@

THE ORIGINAL

How much do they cost in t01al? ..o

4. You pay for the biscuits with a £1 coin. How much change do you get?

Alanthinks you would get 52p change. Ishe right? Explain your answer.

31



5. Fill the gaps below. Include the unit.

19p+43p-=.....
7/8p+18p=....
35p +....= £1
+72p=£1
66p-34p-=...
79p-....=69p
£1-58p =

6. Gurpreetlinesupthecostof twodifferentitemstoaddthemup.Hereis what she has
done:

S56p
T 29p

Is this correct? Explain your answer.

32



Entry 2.12.2: Calculate money in pounds of multiple items and write with the correct symbols

1. Match the notes below with their values.

£5
£10

£20.
ok £20

s =N
i
=

|

¥
2 5
I8
E

i

H

H

2. Putthevalues of the notes inorder, from the highest to the lowest.

HIghesT ..o Lowest



3. Yougo to ashop and buy three items as shown below.

Sale!!!
Chair: £25
Table: £32

How much would one table and two chairs cost in total?

4. In another shop, the same table and chairs are sold as a set for £80. What is the
difference in price?

5. Fill the gaps below. Include the unit.

£19+£43= ..
£35+....2£100

6. Gurpreet lines up the cost of two different items to add them up. Here is what
she hasdone:
+ £56

£29

Is this correct? Explain your answer.

34



Entry 2.13.1: Read and record time in common date formats, and read time displayed in
analogue clocks in hours, half hours, and quarter hours, and understand hours from a 24-
hour digital clock

1. Sumra was bornon 19.10.1980.

Whichmonthwas Sumrabornin?................ccienienienereesesseeesee s
Which year was SUMPra born in?.............c.coieierernsiesnsisssesesessess s sessssssssssssens

a. Write today's date in three common date formats.

c. Write underneath each clock face, the time shown.

35



d. Show 'quarter past 9'in the clock face below.

e. Zenwrites the 2" April 2020 as : 04.02.2020

Is he correct? Explain your answer.

f. Zenalsothinksthattheclockfacebelowshowsthetime'quarterto10'.Is he right?
Why?

36



Entry 2.14.1: Use metric measures of length including millimetres, centimetres, metres
and kilometres

1. Fill in the gaps below.

The short form of writing millimetre is ...
The short formof writing........................... ism.

The short form of writing kilometre is ...
The short formof writing........................... is cm.

2. Fillin the gaps below.

3. Ayanis measuring his height.

What is Ayan's height in metres and centimetres?

AANSWEIY: .ottt et e et e 0t k0 e 8 5085850 54 508 504 1 11 418 508518 1 50 14 0880 1 141 01 e e et e

What is Ayan's height in centimetres?

37



4. Putf these measurements inorder, from the smallest to the largest: 1 cm,
Im,1mmand1km.

ANSWEI: ..oty ceeeetceientciinee ) eevoisssisssssine g osessssssss st

5. How long is the blue line below? Include the unit.

= ’IHI|HII‘I|H||I]|||I|I\I|I\||I\|\||||’I|I\||I\|‘I\I||||||||I\I\I\I||\I||\||||’HI||HII‘IIH|IIII|

0 1 2 3 4 5 6 7 8 9 1C

AANSWEI™: ..o ettt e et et 080 e 4 28 5 0 50 28 1 5 10 18 50504851 1 1 81 1 11 10t 1 e e 1t 0

6. Sumrawants to buy fwo bookcases, each 46¢cm long. She wants to put them next to each
otherinherbedroom.Howmuchspacewouldbothbookcasestakeintotal?

Sumrahas 90cm space available for the two bookcases. She says: 'I can buy the fwo bookcases
and would still have a two cm gap. Is Sumraright? Give areason for her answer.

AANSWEE: ... et et e et e st 50 1 850 501 4 118 12850 1414 11850850 1 11 18 1 0 1 1 e e e

38



Entry 2.15.1: Use measures of weight, including grams and kilograms

1. Fill in the gaps below.

The short form of writing gram is .......................
The short formof writing........................... is kg.

2. Fillin the gaps below.

What is the weight of this plate of fruit in grams?

AANSWEE: ...t et e et e et 085 4 0 8 5018 0 418 14418 8101 1011 1851850 11 11 8118 18 1 1 e e e e

4. Put these measurements inorder, from the smallest to the largest: 1kg,
19,5009

ANSWEI: .ot et eieeee ) eevseenes o sesnn

5. Aaronthinks that 500gq is greater than 1kg because 500 is greater than

1. Is he right? Explain your answer.

39



Entry 2.16.1: Use measures of capacity, including millilitres and litres

1. Fill in the gaps below.

The short form of writing litre is ...........cccoocc.......
The short formof writing........................... isml.

2. Fillin the gaps below.

3. Check the capacity of the jug shown below.

What is the capacity of jug? Include the unit.

4. Put these measurements inorder, from the smallest to the largest: 11,
300ml,0.51

ANSWEI: .ot et eieeee ) eevseenes o sesnn

5. Sarathinksthat300mlisgreaterthanllbecause300isgreaterthanl. Is
she right? Explain your answer



Entry 2.17.1: Read and compare positive temperatures

1. Fill in the gaps below.

The short form of writing 20 degree Celsius is .................. .
Waterboilsat............... °C.

,—-\ OC . OC ~ OC
50—_ 53—_ 53__
40—5 4&—5 40—3
30—5 Sﬂ—f SD—E
20—5 2[}—5 20—E
10—: 13_: 1D—:

Put the temperatures above in order, from the highest to the lowest.

ANSWEI: o) eeeeeeeeeeeecesey eeeeereeesseessiins

3. Thefridge temperature should be 4°C or below. Anna's fridge temperature is 6°C. Is
Anna's fridge at the right temperature?

Annasays: 'The difference between the femperature that the fridge has now and the
temperature it should have is 1°C." Do you agree

41



Entry 2.18.1: Read and use simple scales to the nearest labelled division

1. What is the length of the pencil? Include the unit.

e ——

- — =
mm|I|I||IIII’I|II[IIII‘IIII|IIII|IIII|I||IIIIII|III|IIII||IIII|II|I|III|||II|||II||II|I|I|II|II|I|IIII|
cm

0 1 2 3 4 5 6 7 8 9 10

Answer: .......cm

Darren has a pencil case which is 7cm long. Would the pencil above fit init? Explain your
answer.

2. How much liquid is there in each of the containers? Include the unit.

42



4. Read the temperature shown by each thermometer. Include the unit.

35
30
25
20
15
10

-10
-15
-20
-25
-30
-25

=B8s38388

5. How much juice is there in this container?

1 litre —— r

750 ml —

500 ml =

250 ml —

L om=_ i

a) About500ml  b)About 250 ml c) Aboutllitre  d) About Oml

6. How much does this bag of potatoes weigh?

AANSWEI™: ..o oot e et e e e 0 05 e 8 5050251 11 508 508 1480 5 14 502 58 1 111 11 118 5 11 1 0 e e e

Anitawantstoputthepotatoesintocontainerswhichhold 3kgeach.Howmany
containers does she need to store all of the potatoes above?



Entry 2.19.1: Recognise the names of simple 2D shapes including pentagons and hexagons

1. Draweach of the shapes named below:

Triangle Square

Circle Rectangle

Pentagon Hexagon

2. Andy thinks that the rug below is in square shape. Is he right? Why?

AANSWEI: ... e et e e e et et 0 1 5 8 1850 5 18 8 501 28 50 11 11850 1 541 11 1218 0 01 01 1 0 1 e e

44



3. Magda calls the shape below 'sphere’. Is she right? Why?

45



Entry 2.19.2: Recognise and name 3D shapes, including cylinders, cuboids, pyramids and spheres

1. Name the shapes shown below:

2. Andythinksthattherugbelowisinsquarecircle.Isheright? Why?

ANSWEI™S e et e et et et et et e e 4 5028 14 2 14 2 54 50 128 14 5 14 85 1441 41 1 0 5 1 e 0 e e

3. Magdathinks the sponge belowisinthe shape of acube.Isshe right? Why?

46



Entry 2.20.1: Describe the properties of common 2D shapes including numbers of sides, corners
and angles

1. Write howmany sides, cornersandright angles each of the shapesbelow has.

Sides: ... Sides: ... Sides: .o,

A

Corners: ... Corners: ........... Corners: ...
Right angles: ....... Right angles: ........ Right angles: ........

m @

Sides: ... Sides: ............... Sides: ...

Corners:. ............ Corners:. ......... Corners. ...
Right angles: ....... Right angles:...... Rights angle: ........

2. Which of the shapes above have 4 sides?

AANSWEI™S .o oo eee e s st ses et 2525225 5450 50 204 44242040222 2 8 08 8 242558 402 08 8 55 1 44 5 50 4 020 04444422 et et e et e e

3. Tick the shapes below that have more than one right angle?
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Entry 2.20.2: Describe the properties of common 3D shapes including numbers of edges, face and

base

1. Write how many edges and faces each of the shapes below has. Also, write what shape

is thebase.

Edges: ... Edges: ...
Faces: ... Faces: ...

Base: .o, Base: v,

Edges: ... Edges: ...
Faces: .., Faces: v

Base: ..., Base: o,

2. Andy says that the base of a cube is always a square. Is this true?

Edges: ...

FaCes: v

BaSE: e

ANSWEE: oot et eeeees e eeteee e ses et ees s ses et see e 222204 s e 222202 e 202402 1 20 e 22820t 40200 225204 10 e 22820 e 202402 1 et 40 e et 10 et e e et eet s e re

3. Magda thinks that a pyramid has 5 edges. Is she right? Why?

ANSWEIE: oot eeeeeeees e eeeeeesesses et ees s ses et see e 222204 s e 222202 e 02402 1 20 e 22820t 44220 224204 1 e 22220 1 e 202402 1 et 40 e et e e et e e et et s e
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Entry 2.21.1: Use appropriate positional vocabulary to describe position and direction including
between, inside, outside, middle, below, on top, forwards, and backwards

1. Complete the sentences below which include the words between, in the middle, below

or on top.

The sphere is ............ of thecylinder.
Thecylinderis................... cube and thecuboid.
Thepyramidis................... the cylinder.
Theshape........................ is called cylinder.

Theglassesare.............. the box.

The flowerpotis.................. the box.
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3. Complete the sentences below using: forwards or backwards.

If the car moves

If the car moves

..........................

,it will hit the tree.

,it will hit the lamppost.

3
S
o
T
~
7 >,
22

N
=
-
s
-~

“‘

1\‘\|‘w
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Entry 2.22.1: Extract information from lists

Answer the questions below about the information given in the menu below.

PizzA PlAce

MARgheriTA Pizza £12
Vegetable Pizza £11
Pepperoni Pizza £14

1. How much does a vegetable pizza cost?

2. Which of the pizzas is the most expensive?

3. How much more than a margherita pizza does a pepperoni pizza cost?

4. If you paid for a pepperoni pizza with a £20note, how much change would you be
given?

5. Aylahasonly£13inherpurse. Whichof thepizzasabovewouldshebeableto buy?
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Entry 2.22.2: Extract information from tables

Answer the questions below about the information given in this table.

Prevent referrals by age in winter 2016-2017
Age Number of
referrals
Under 15 440
21-30 261
31-40 155
41 andover 153
Unknown 29

1. How many 31 to 40 year olds were referred inwinter 2016 - 17?

2. Which of the groups had most of the referrals?

3. How many more 21-30 than 31-40 year olds were referred?

4. Estimate the total number of referrals.

5. Workouttheactualtotalusingacalculator.Compareyourestimatewiththeactual
answer.
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Entry 2.22.3: Extract information from tally charts

Answer the questions below about the information given in this tally chart.

Number of cakes sold in the charity event

Cake flavours Tallies

Chocolate cake *’“"’1—’r’ ‘

Vanilla cake

Sponge cake T

[HEN

. How many sponge cakes were sold in the charity event?

N

. Which cake flavour was the most popular?

w

. How many more chocolate cakes than vanilla cakes were sold?

4. How many cakes were sold in total?

Check your answer to question 4. Show your check.

...................................................................................................................................................................................
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Entry 2.22.4:Extract information from bar charts

Answer the questions below about the information given in this bar chart.

Prevent referrals by age in winter 2016-2017

500

450
ﬁ 400
S 350
(]
"GE 300
5 250
@ 200
o]
£ 150
>
Z 100

50

0 [ |

Under 15 21-30 31-40 4landover Unknown
Agegroup

1. How many 31 to 40 year olds were referred inwinter 2016 - 17?

2. Which of the groups had most of the referrals?

3. How many more 21-30 than 31-40 year olds were referred?

4. Estimate the total number of referrals.

5. Workouttheactualtotalusingacalculator.Compareyourestimatewiththeactual
answer.
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Entry 2.23.1: Make numerical comparisons from bar charts

1. Hereis some information about sales in two dif ferent small businesses during April, May,
June and July in 2020.

Sales from April to July 2020 in Sales from April to July 2020 in
Company A Company B
110
P 100
w §§ g 250
.- 7 -
S 60 = 200
5 50 & 150
o 40 5]
£ 2 '
2 49 . E 50
0 3 0
April May June July z April May June July
Months Months

a. Which company has had more sales from April to July 2020?

b. Which month did company A have the highest number of sales?

c. Whichmonth did company B have the lowest number of sales?

d. Describe the trend in sales for Company A.

e. Describe the trend in sales for Company B.

2. Company sales inyears 2016 0 2020 are shown below. In-store sales are shownin blue
and online sales in orange.

Should Company C invest
more in online or instore

Instore and online sales for company C

1200

1100
. 1000 products? Why?
2 gp0
3 800
w= 700
2 600
ﬂ 500 B instore
£ 400
3 300 B online
Z 00
100
0
2016 2017 2018 2019 2020
Years
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Entry 24.1: Sort and classify objects using two criteria

1. Inashop,youfindtheseclothes whichyoulike.Youarelookingforatop which costs
less than £10. Tick the clothes that meet these criteria.

2. Sunjeong was given these shapes to sort. She ticked two of the shapes below.

S

.

What criteria was she given?

3. Alan was asked to find an odd number greater than 15 and his answer was 16. Is he right?
Explainwhy.
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Entry 2.25.1: Take information from one format and represent it in another format

1. Information about Prevent referrals has been represented ina table and bar chart below.
Fill in the gaps in the table and the bar chart.

Prevent referrals by age in winter 2016-2017

Age Number of referrals
(rounded to the
nearest 10)

Under 15 440
21-30 260
31-40 160
41 andover 150
Unknown | ...

=300

Under 15 21-30 31-40 41 andover Unknown
Agegroup



Answers

E2.1.1 Page 5

1.37

2. No, there are24

3. 43, 44, 45, 46 , 47, 48, 49,50
4.70,71,72,73,74,75

5. 86,52,25,16,13,0

6. No, itshould be 18, 19, 20.

E2.1.2 Page 7

1.49

2.36

3. 52, 54, 56,58, 60, 62, 64, 66

4. 30, 32, 34, 36, 38, 40

5. Yes, because it is an odd number.

6. No should be 43, 45, 47, 49 or 42, 44, 46, 48

E2.1.3 Page 9

1. 80p

2. Yes,30learnerscansit.
3.30, 40,50, 60,70,80,90
4.50,3. 60,70,80,90,100

5. No, because55is notaten
6. No, 60 ismissing.

E2.2.1 and E2.2.2 Page 11

1.
141 Hundreds Tens Units
I I i

108 Hundreds Tens Units

=] =
L]

= - =

=

35 Hundreds Tens Units

s ®
s ¥

60 Hundreds Tens Units

2.
17 ~_|one hundred
100 sixty eight
111 .~ |onehundred
. |andeleven
68 ~ | seventeen
3. No, 18 is written as eighteen
4. Fifty five
5.
The Bank Date
o one hundred and
% | £120
Signed
00023 2+3L56. 42345678,
E2.2.3 Page 13
1. 180, 108, 81, 18,81
2.
The Bank Date
Pay___one hundred \and
twenty pounds £
only
| Signed
ST . v
The Bank Date
pPay__one hundred_and two ¢
pounds only
T VA W I
e e e e e S it S |
Cheque No Branch Sort Code Account No
PO 243 42 *3L5G L23LSE7B

3. No,91isbhiggerthan72,soshouldbe:18,72,91, 103, 105

4. He should take the bus
5. Yes, 80ishiggerthan 18.
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E2.3.1 Page 15

1.
oDD EVEN
"M 25 | [ 8 50
77 81 \ 56 100

2.12,14,16,18,20,22
4. Yes, after2comes 3, after10comes 11

E2.4.1 Page 16

1.
+ | subtract
- | equals
x | divide
= fj‘fﬁzzw.:if/\‘ add
_ PN

2. g + 5 =11

2 x 7 =14
12 =+ 4 =3
20 - 8 = 12
5 x 1 =25

3. times, multiply,lotsof

4. divide, share equally, split into

5. Hasused—instead of +. Shouldbe5=10+2
6.30p

E2.5.1 Page 18
1. 95p
2. 83
3.27+15=42

44+26=70

12+23=35

58+8=66

70+9=79

79+ 14 =93
4. lagree with the first sentence because both sides
equal 24.The second sentence is wrong because if you
no money and then get £35, you end up with £35, not
0

5. 26+45 (There are many other possible combinations.

Use a calculator to check that they adds up to 71)

E3.5.2 Page 20

1. 46p

2.16

3.39-5=34
54-26=28
55-43=12
76-64=8
69 -59 =10
85-4=81

3.37, 39, 41, 43,45

4. Thesecondsentenceiscorrectbutthefirstoneisnot. If
you have £24 and spend £4, you have £20 left.
However,ifyouhave£4onlyandspend£24,youare then
£200overdraft.

5. 35-4(Therearemany otherpossiblecombinations. Use
acalculatortochecktheresultis31).

E2.6.1 Page 22
1.18
2.11x12=132
3.5x10=50
4x8=32
6 x6 =236
4. 6x4=4x6correct
1x5=1wrong
5x 0 =5 wrong
5. 6lotsdisthesameas4lotsof6.0One£5noteisequal to
£5, not 0 pounds. £5 lots of O pounds, make 0
pounds.

E2.7.1 Page 24
1.24

2. 12 midnight
3.12midday

4. 12

5.52

6. January

7. December

E2.8.1 Page 25

1.16

2.76+4=19

3. 36+9=4
50+10=5
63+9=7
64+7=9rem1

4. 16+4=4+16Wrong
5+1=1wrong

16applessharedby4peopleisnotthesameas4apples
shared by 16people.
IfE5aresharedbyonepersononly,theygetthewholeof the
£5.

5. 6x7=42
E2.9.1 Page 27
1. 80+90=170
2. 80+20+60=160
3.
Lowest possible whole ounded te Highest possible whole
number s it number
55 60 tothe nearest 10 64
25 30 tothe nearest 10 34
4. Yes,sheisright,because30iscloserto30thanto40.
5. 40
80
0
100
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E2.10.1 Page 28
1.

2. Yes, because 1 out of the 4 circles is coloured
3.

Fractions in digits Fractions in words
1/4 one quarter
1/2 half
1/10 one tenth
4. 1/2 of £64
5. £15.

6. 1/4 of £20 is £5
1/40ff£20is£15

7.No,sheisnotrightbecause¥ameanssharedinto4.v2

meanssharedinto 2. Half a pizza is bigger than a
quarter of it.

E2.11.1 Page 30
1.

2.3.2m
Yes, because 3.2m is longer than 3m.
3

Decimals in digits Decimals in words

0.6 Zero point six

4.9 Fowr point nine

4. Theyboth have 3and 7 inthem but 7.3 is bigger than

3.7.
5.45.7,47.5,54.7,57.4,74.5,75.4 (There are more
decimals you can make with these digits at Entry 3).

E2.12.1 Page 31

2. 5p, 10p, 20p, 50p, £1
3.58p
4. 42p

5. No, thatis not right. 58p and 52p makes £1 and 10p

6. 19p+43p=62p
78p+18p=96p
35p+65p=£1
28p+72p=£1
66p—34p=32p
79p—10p=69p
£1 -58p =42p

7. No, she has lined the numbers up incorrectly.

E2.12.2 Page 33
1.

£10

“1£20

. £20, £10, £5
.25+25+32=£82
.82-80=£2
.£19+£43=£62
£35+£65 =£100
£66—£34=£32
£79-£10=£69
6. No, she has lined them up incorrectly.

abrbwN

E2.13.1 Page 35
1. October
1980
2. 30.08.2020, 30" August 2020, 30.08.20
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6. No, should be 02.04.2020.
7. No, this clock shows quarter to 11 because the
small hand is nearly at 11.
E2.18.1 Page 42

E2.14.1 Page 37 1. 8cm
1. The short form of writing millimeter is ml. The short No, the pen would not fit.
form of writing metre is m. 2.

The short form of writing kilometer is km. The short
form of writing centimeter is cm.
2.1m=100cm
cm=10mm
1 km =1000 m
. 1m 30cm 130cm
.dAmm, 1cm, 1 m, 1km.
5cm
. 92cm
No, thisisnotright. Shewould2cmmore andthisiswhy
sheisgettingconfused.

ouhw

E2.15.1 Page 39

1. The short form of writing gram is g . The short form
of writing kilogram is kg.

2. 1kg=1000g 1000g=1kg

3.500g

4. 1g, 5009, 1kg

5. No, because 1kg is equal to 1000g. 5009

E2.16.1 Page 40
1. The short form of writing litre is | .
The short form of writing millilitre is ml.
2. 11=1000ml 500mI=5I
3. 750ml
4.300ml,05L,1L
5. No, because there 1000ml in 1 L. 300ml is less than
1000ml.

E2.17.1 Page 41

1. Theshortformofwriting20degreeCelsiusis 20°C.
Water boils at 100 °C. 7 kg 25 Ibs
Water freezes at0°C. 4.
2.
o o
o, o, 0 Cc F
(M) s c 40 =150
50— 50: 50— 35 140
- - = 30 130
—_ 25 —
40— 40— 40— _"lz'u
- - - 15 -:;:
p— — — 10 -
30— 30— 30— . |90
= - - 0 — 80
20— 20— 20— :; ::g
- - - 15 — 50
10— 10— 10— -_2c| : 40
- - = ot ..gg
0— 0— 0— w ‘10
25°C 20°F
10°C 30°C 20°C

Order from the highest to the lowest: 300C, 20°C, 10°C
3. No, 6°C is higher than 4°C.
No, because 6 —4 =2, so it is 2°C.

5. b) About250ml
6. 5kg
2 containers



E2.19.1 Page 44
1.

Triangle Square

Circle Rectangle

Pentagon Hexagon <:>

2. No, heis notright because not all sides of the rug are
equal.

3. No, sheis notright because this is aflat shape, a
circle.

E2.19.2 Page 46
1.

Cube cylinder cuboid sphere

pyramid

2. Sphere
3. No, sheis notright because a cube has equal faces.

A

E2.20.1 Page 47

1.

Sides: 4 Sides: 0 Sides: 3
Corners: 4 Corners: 0 Corners: 3
Right angles: 4 Right angles: 0 Rightangles: 0
Sides: 4 Sides: 5 Sides: 6
Corners: 4 Corners: 5 Corners: 6

Right angles: 4

Right angles: 0

Rightangles:0

2. Square and rectangle

3.

O O

E2.20.2 Page 48

1.
Edges: 6 Edges: 2 Edges: 6
Faces: 6 Faces: 3 Faces: 6
Base: square Base: circle Base: rectangle
Edges:0 Edges:8
Faces:0 Faces: 5

Base:nobase

Base: square

2. Yes, because all of its faces are squares.
3. No, asquare-based pyramid has 8 edges.

E2.21.1. Page 49

1. The sphere is on top of the cylinder.
The cylinderis between the cube and the cuboid.
The pyramid is below the cylinder.
The shape in the middle is called cylinder.

2. The glasses areinside thebox.
Theflowerpotisoutsidethebox.

3. If the car moves backwards, it will hit the tree.
If the car moves forwards, it will hit the lamppost

E2.22.1 Page 51

1.£11

2. Pepperonipizza

3. £2

4. £6

5. Margherita or vegetable

E2.22.2 Page 52

1.150

2. Under 15

3. 110 (100 is fine too)

4. About 1000

5. 1030. The actual numberis 30 more than the
estimate

E2.22.3 Page 53

15

2. Chocolate cake

3. 4

4. 13
Check:6+2+5=13

E2.22.4 Page 54

1. 150

2. Under 15

3. 110 (100 is fine too)

4. About 1000

5. 1030. The actual numberis 30 more than the
estimate.

E2.23.1 Page 55
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1.a) Company B

b) April

c) April

d) It kept going down from April to June and then
went slightly up in July

e) It kept going up from May to June and then went
slightly down in July.
2. Company C should invest more in online products
because online sales have keptincreasing from 2016 to
2020.

E2.24.1 Page 56
1.

2. 3D shape inblue.
3. No, because 16iseven. 17 is odd and greater than 15.

E2.25.1 Page 57
1.

Preventreferrals by agein winter2016-2017

Age Number of referrals
(rounded to the nearest 10)
Under 15 440
21-30 260
31-40 160
41 andover 150
Unknown 30

500
450
400

2 350

8 300

@

S 250

2 200

=

= 150

1

=]
S

0

Preventreferrals by age in winter 2016-2017

Under15

21-30

31-40
Age group

41 andover

Unknown
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